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But we learnt; the dog — 2%277 RO

OVERVIEW
The X713 cites a contradiction between two Mmn>72, whether a dog who jumps
down is liable. m»oIN broadens the question.

Moo responds to an anticipated difficulty:
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The X723 could have challenged this second ¥n>>12 (which states that a 731 295 are
1ws if they damaged jumping ©"n%91n%1) from our mawns (which states 731 2937
w"1 obwn 121 1¥9pw); but rather the Xnx chose to wait until it cited the first
Xn12, and then challenged the second &n>72 from both the mwn» and the first xn>>a.

SUMMARY
The contradiction between the NIn»72 applies to our mwn as well.

THINKING IT OVER

1. The p"nvw states in the name of the w"X7 that there is no question from our 71w~
since our 7wn can be disusing a low wall where all agree that he is 211 (2"»¥).
Why does our md01n not accept this resolution?

2. Why cannot we distinguish that in both nn>12 the expression is 12272 (therefore
it 1s a clear contradiction); however in our 7Iwn it states 1X9pW; perhaps 7X°9p is
different from 372

Faxo.
2 See 9" Mmoo,
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